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CC Algebra 2

Module 4 Regents Review —Probability and Statistics

i. If p(A) _= 63"/o P(B) = 39'/o P(AandB) = 17'/0
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a. Draw a Venn diagram and a hypothetical 1000 two way table to represents this information
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b. Find p(A / B}
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c. Find p(g / A)
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e. Are A and B independent events? Explain.
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d. Find P(AorB}
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2. Two versions of a standardized test are given an April and a May version. The statistics for the April

version show a mean score of 510 and a standard deviation of 20. The statistics for the May version

score of 515 and a standard deviation of 24. Assume the scores are normally distributed. Jack took

the April version and scored in the interval 550-590 . What is the probability, to the nearest ten

thousandth that a test paper selected at random from the April version scored in the same interval?
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JiII took the May version of the test, in what interval must she have scored to claim that she scored as

well as lack?
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